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TrigonometryExercise3 Answers for No.10052
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TrigonometryExercise3 Answers for No.10076
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TrigonometryExercise3 Answers for No.10083
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TrigonometryExercise3 Answers for No.10191
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3n
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TrigonometryExercise3 Answers for No.11863
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TrigonometryExercise3 Answers for No.11967
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1
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.5:(—7:(-450)J 10=(6.5=372.423")
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2 6
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o ﬂ o 297
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Ans4 =[.1 =[ Quadrant = 04],.2 =[Sec(0) =ﬁ]], , [—)}

o
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Ans5={C0t(9)+ Sin(0) =

15 o
Ans7:[Sec(6) + Tan(0) :%}, ’ [L()}
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A= (—: 90°j 6= (—: 960°j
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T o 531 o
Ansl = 3=|—=60 8=|- =(-1590)
3 6
57[ (e} 0]
4= —?:(-150) 9=(1=57.296")
191 o o
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2 4
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2=]120°=— . (( 2370)° = — J
3 6
(e} 77[: (e}
dns2—| -3=210 - 8=11740° =
T 90\’
:((-315)0:——j .9:((—] :0.500]
4 T
450 )
5=(360°=2n) .10:((—] - .soo]
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Ans7:[Cot(8) +Sin(0) = -
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TrigonometryExercise3 Answers for No.13163
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5= =990
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A=190"=—
2
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Ans2 = 3=145 4

—( 30)° = EJ
[ (30r=-7

.5=(2520°= 14 1)

Ans3 = [.1 = [ Quadrant = 04], .2 = (Tan(8) = —/3)1, [

e

Ans4:{] = [ Quadrant =Q2],.2 = |:COS(9) =—

61433

Ans5 :[Sec(e) + Cot(0) =

Ans6={Cos(9) + Csc(0) =~

Ans7 =[Tan(0) — Sec(0) = f] )

Ans8={Sin(8) + Tan(0) =—
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TrigonometryExercise3 Answers for No.13403
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[ RE o 53w o i
A=1—"=270 6=|— =(-1590)
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S5n o 8 o
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6 3
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| 61410

Ans5 =| Tan(0) + Cos(0) = 140 } )

19[

Ans6 =| Sec(0) + Cot(0) =—

371 ’

Ans7 =| Cos(0) + Csc(0) =
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i 3n . 10 7 O) ]
A=|—"=270 .6:(— :(-600)J
2 3
5n o (857: Oj
2=|—=225 7= ———=2550
4 6
47 47 n
Ansl = 3=|——=240° S=|—=2115°
3 4
Ilm o o
.4:(— p :(-330)j .9=(5=286.479")
T
.5:(—72(-630)()} 10=(-4.5=(-257.831)")
i i 43 1t
.]:(90°:—j .6:(1290°:—J
2 6
27 T
.22(120():—} .7=((-420)o=—_J
3 3
o IT o 33n
Ans2 =| 3=[210"= p 8= (-1485)" =
Tn 270 Y’
.4:((-315)02——] 9= (—j :I.SOOJ
4 T
990
5=(1800°=10m) IO:H— :5500]
L s _
65 2)
Ans3 =| .1 =[Quadrant = Q04], 2=|Tan(0)=——"11|, , —(

Ans6:{C0t(9)+Sin(e):_%}’ [ﬂ}
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TrigonometryExercise3 Answers for No.13668
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Ans8:{Sin(8)—Tan(6):%}, ,{L()}

X [Page = 0027] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKKXXXXKXKXXXKKKXKXKKKKXXXKKKXKXKK




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKKXKXMS5/1-6800303-00028%XX
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TrigonometryExercise3 Answers for No.13720
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TrigonometryExercise3 Answers for No.14307
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TrigonometryExercise3 Answers for No.14598
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TrigonometryExercise3 Answers for No.14624
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TrigonometryExercise3 Answers for No.14688
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i T o 49 o |
A=]1—=90 6=|— =(-2205)
2 4
27 o 43 1t o
2=—"=120 T=|- =(-1290)
3 6
Tn RN
Ansl = 3=|—"=315° 8= =1860°
4 3
1=
.4:( p :330°j 9=(2=114.592°)
11= o o
.5:(— 5 :(-990)j 10=(5.5=315.127")

o o Hm
A =(180"=m) .6:(495 = p j

i 85 m
.2:((-30)°:—gj .7:(2550°:TJ

o ﬂ o 34 n
Ans2 = 3=1240" = 3 .8=1(-2040) :——3

erg) (2] oo

et (2] s
S5=((-720°=—-4n) .10=||—| =3.500

T

An53=[.]:[Quadrant=Q4],.2:(Tan(9):—2«/5)], ,{ }

s

Ans4:{]:[Quadrant:Q,?],_2:{Sin(e):_gﬂ, ’[ }
Ans5:{Sin(e)_C0t(e):@l [ﬂ}
140 o
Anséz[Sec(e)Jrcot(e):_ 195«/‘5?}, ’[C}
Ans8:{8in(6)—Cos(6):—%}, ’{L()}

X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXXXXKXKXXXKKKXKXXKKKKXXXKKKXKXKX



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKKXXKKXKMS5/1-6800303-00037XX
TrigonometryExercise3 Answers for No.14714
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TrigonometryExercise3 Answers for No.14746
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TrigonometryExercise3 Answers for No.15000

T o 16 o
A=1—=90 6=|— =(-960)
2 3
51 o 85 m o
2=|—"=225 J=|—""=2550
4 6

51 o 45t o
—=150 B=|—"=2025
6 4

( 27 Oj o
A=|—-—"=(-120) .9=(7=401.070")

Ansl = 3=

3
271 o o
.5=( 5 :2430j A0=(5.5=315.127")

i , 3m . 89m) |
.1=(270 ZTJ .6=((-2670) :_Tj

Tn on
2=[(-210)°=- .7:((-405)0:—Tj

4= (-300)° =~

6
o R o 257
Ans2 = 3= (-315) :—T .8:((-1500) :_TJ
Sn
3

9= =1.500
7T
900 )
.5=(1080° =6 1) .10:((——n j :-5.000]

Ans3 :{] = [Quadrant = 04],.2 = (Csc(e) = _éﬂ’ , [ﬂ}

A
Ans4 = {I =[ Quadrant = Q4], .2 = {Cos(e) :lﬂjﬂ’ , {L()}

Ans5 =[COS(9) — Cot(0) =- 8?}’ {L()}

Ans6={Sec(9)+Tan(9)=@}, ,{

61«/10} [
60 b b
2443 :
Ans8 =[sm(e) + Tan(0) = _Tf} [L()}
X [Page = 0039] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX&XXXXXXXXXXXXXXXXX

= \é& ‘é

Ans7:{Cot(8)— Sec(0) =




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKKXXKKXKMS5/1-6800303-00040XX
TrigonometryExercise3 Answers for No.15012
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